<?2xml version="1.0" encoding="UTF-16"?>
<ICEUpload>
<Site>

<Siteld>2240</Siteld>

<Scan>

<Date>41983.749734</Date>

<ScanStart>41983.749734</ScanStart>

<ScanEnd>41983.750752</ScanEnd>

<DateFormatted>Dec 10, 2014 10:59:37 AM</DateFormatted>

<Devices>

<Device>

<UpTime>164606200</UpTime>
<LCD> No Paper: Tray 2 </LCD>
<Name>Aficio MP 2550</Name>
<Vendor>RICOH</Vendor>
<Productld>1.3.6.1.4.1.367.1.1</Productld>
<PrinterKey>00-00-74-D2-3F-B5M6585100066</PrinterKey>
<IPAddress>192.168.0.60</IPAddress>
<MACAddress>00-00-74-D2-3F-B5</MACAddress>
<Location>In the printer farm</Location>
<SerialNumber>M6585100066</SerialNumber>
<HostName>RNPD23FB5</HostName>
<FriendlyName>Aficio MP 2550</FriendlyName>
<Firmware>1.01.3</Firmware>
<FirmwareDate/>
<LifeCount>53422</LifeCount>

<ColorCount>0</ColorCount>



<IsColor>0</IsColor>
<Status>0</Status>
<StatusDesc/>
<SNMPVersion>2</SNMPVersion>
<DATVersion>41</DATVersion>
<ICEVersion>1.17.0.0</ICEVersion>
<SubCounters>
<SubCounter>
<Type>1</Type>
<TypeDesc>Print Mono</TypeDesc>
<Value>45865</Value>
</SubCounter>
<SubCounter>
<Type>3</Type>
<TypeDesc>Copier Mono</TypeDesc>
<Value>7490</Value>
</SubCounter>
<SubCounter>
<Type>5</Type>
<TypeDesc>Fax</TypeDesc>
<Value>67</Value>
</SubCounter>
<SubCounter>
<Type>6</Type>
<TypeDesc>A3/DLT</TypeDesc>
<Value>81</Value>

</SubCounter>



<SubCounter>
<Type>8</Type>
<TypeDesc>Duplexed</TypeDesc>
<Value>3525</Value>
</SubCounter>
<SubCounter>
<Type>12</Type>
<TypeDesc>Scans</TypeDesc>
<Value>4196</Value>
</SubCounter>
<SubCounter>
<Type>18</Type>
<TypeDesc>Scans Mono</TypeDesc>
<Value>3900</Value>
</SubCounter>
<SubCounter>
<Type>19</Type>
<TypeDesc>Scans Color</TypeDesc>
<Value>296</Value>
</SubCounter>
</SubCounters>
<Consumables>
<Consumable>
<Type>7</Type>
<TypeDesc>Paper</TypeDesc>
<Name>Tray 1</Name>

<LevelType>3</LevelType>



<LevelTypeDesc>Absolute</LevelTypeDesc>
<Level>50</Level>
<Status>0</Status>
<StatusDesc>Available (Idle)</StatusDesc>
<RowlIndex>1</RowlIndex>
<ColorType>0</ColorType>
<Serial/>
<PagesOutput>-1</PagesOutput>
<InstallDate/>
</Consumable>
<Consumable>
<Type>7</Type>
<TypeDesc>Paper</TypeDesc>
<Name>Tray 2</Name>
<LevelType>3</LevelType>
<LevelTypeDesc>Absolute</LevelTypeDesc>
<Level>0</Level>
<Status>9</Status>

<StatusDesc>Unavailable on request, Non-critical

alerts</StatusDesc>
<RowlIndex>2</RowlIndex>
<ColorType>0</ColorType>
<Serial/>
<PagesOutput>-1</PagesOutput>
<InstallDate/>

</Consumable>

<Consumable>



<Type>7</Type>
<TypeDesc>Paper</TypeDesc>
<Name>Bypass Tray</Name>
<LevelType>3</LevelType>
<LevelTypeDesc>Absolute</LevelTypeDesc>
<Level>0</Level>

<Status>9</Status>

<StatusDesc>Unavailable on request, Non-critical

alerts</StatusDesc>
<RowlIndex>3</RowlIndex>
<ColorType>0</ColorType>
<Serial/>
<PagesOutput>-1</PagesOutput>
<InstallDate/>

</Consumable>

<Consumable>
<Type>1</Type>
<TypeDesc>Black Toner</TypeDesc>
<Name>Toner</Name>
<LevelType>1</LevelType>
<LevelTypeDesc>Enumerated</LevelTypeDesc>
<Level>1</Level>
<LevelDesc>0K</LevelDesc>
<Status>0</Status>
<StatusDesc>Available (Idle)</StatusDesc>
<RowlIndex>3</RowIndex>

<ColorType>1</ColorType>



<Serial/>
<PagesOutput>-1</PagesOutput>
<InstallDate/>

</Consumable>

</Consumables>
<Alerts>

<Alert>
<Code>808</Code>
<Description>No Paper: Tray 2 {13300}</Description>
<Group>8</Group>
<GroupDesc>Input</GroupDesc>
<Severity>4</Severity>
<SeverityDesc>Warning</SeverityDesc>
<TrainingLevel>3</TrainingLevel>
<TrainingLevelDesc>Untrained</TrainingLevelDesc>

</Alert>

<Alert>
<Code>1</Code>
<Description>Energy Saver Mode {10033}</Description>
<Group>5</Group>
<GroupDesc>General printer</GroupDesc>
<Severity>1</Severity>
<SeverityDesc>Other</SeverityDesc>
<TrainingLevel>3</TrainingLevel>
<TrainingLevelDesc>Untrained</TrainingLevelDesc>

</Alert>

</Alerts>



</Device>
</Devices>
</Scan>
</Site>

</ICEUpload>



